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ot open this booklet until you are instructed i dg 5, 0 @L&w//’* :
e 13 (o Comarieh
Use of calculator, mobile phone or any other electronic device is strictly NOT allowed. - .
Handover the OMR answer sheet to the invigilator afier the ination is GVer.
There are 40 multiple choice questions (four choices a, b, ¢, d with one right / appropriate

choice) in the question paper booklet.
Select the right / appropriate choice from the options given in each question. Each correct

answer will carry one mark.

There is NEGA' ing in the ion 025 marks will be deducted for each
A

_.—-'_'_-—_h

Time limit for the test is 45 minutes. e

Do not fold / spoil the OMR answer sheet. Do not make stray marks on the OMR answer sheet
For rough work, the space marked ‘Rough Work® at the end of question booklet may be used.
OMR Answer Sheet is not to be taken out of the Examination Hall. Any candidate found doing
so would be expelled from the examination and the matter will be reported to the police.
Kindly check your question booklet and OMR answer sheet before start answering. Make sure
that no page or question is missing from the question booklet or the OMR answer sheet is
damaged. If any defect is found in the question booklet or OMR answer sheet, the same should
be got replaced from the invigilator within 10 minutes of the start of examination-

Open this booklet only when instructed |
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pEmm—— .- solution is 4 kI/kgK. The rate at which the jgi is 2109 |
) Ahaesn v . !!

i

B

fl-g9 Ei*

';l’.‘ The rate of heat loss throu
€ °  hotside and 30°C on the cuglg :i

a) 11.459 kW/m?
/) m b) lll-ﬁ?skW[ml

5 i . | ¢) 34,56 kW/m’ d) 23.49 kW/m’
principie nu entswhzchgetincrés,,dinmepmb iled rice includ
alled rice include @
a), Thiamine alone
Jl)‘ Thiamine and phosphorous 3 Ehaiamcilnc., niaf:in and iron
on and vitamin

3. Physical hardness of which cerea] grain is highest
=]
a) Rice
b) Jawar 2 Millet d) Corn

4. ; ,

Which of the following carbohydrates is NOT classified as dietary fibre ?

a) A .

) Agar b) Pectin ¢) Sodium alginate &) Tapioca starch

5.

3 :f,tizﬂmws a constant drying rate of 0.15 kgH,0/(min. kg dry matter) and has an a, of 1
fro IS conlent above 1.10_kgH;O/kg dry mattef, How long will it take to dry this material 8>
m an initial moisture content 02?75% (wet basis) to a final moisture content 8% (wet basis) ? <

2) 303 b) 31.3 ¢) 35.7 L) 82.3 i
& a
6. The door to a refrigerated room is 3.048 m high and 1.83 m wide. It is opened and closed at
least five times each hour and remains open for at least 1 min at each opening. Calculate the

refrigeration load due to the door opening if the room is maintained at 0°C and ambient
temperature is 29.4°C.

2) 30.9 MJ ) 35,58 MJ o) 76.89MJ d) 45.85MJ

7. The objective of heating milk to about 65°C before homogenization is to inactivate :

a) Invertases Jj/l.actases ¢) Lipases d) Glucose oxidase
§.  Which of the following non-nutritive sweeteners contains similar calories per gram as that of
sucrose ? r
|
W) Saccharin b) Aspartame ¢) Sucralose d) Cyclamate

9.  Which one is not the by-product of oil industry ?

a) Lecithin b) Bleaching earth c) Pectin Ld) Soap stock
10. The LMTD for counter current flow in a heat exchanger where one stream rises from 23°C to
75"C where as other flow fall from 95°C to 85°C. LT ?}
ay652'C b) 13.7°C c) 385°C d) 27.9°C =
/
H. Moistm‘-’e content of potato is 85% (wet basis). In dry basis, the value will be :
a) 333% b) 155% Loy 566.6 % d) 444.% &y
~ - 5
- w5
S . P .
T }_,.—- -~ fﬁva ; 5
i . e
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i ired to heat 100 L of
12. a]-he quantﬂ’y Of he.at I‘BEIUI 0 Watc o .
= 90°C is : (The specific enthalpy of water at 33°C ;; ];;nlhal]y at 38°C to a final temperature of

8 ki/kg and that at 90°C is 136.8 ki/kg).
_af 23826 K b) 23500 kJ 92000l d) 21000 kJ
13.  One ton of Mango fruits at 35°C is to be cooled at 4C i, 5

the motor is :
a) 0.345kW, 7.8 hp wb}"’ﬂ.234 kW,3.4hp ¢) 0.745kw, 7.8 hp d) 0.745kW,3.4 hp

* m?l"j{:il;eif 1%?21“??;0:1;‘20?5 . "é”; of 1” diameter, schedule 40. The specific gravity of
; B ity is 2.5 cp. 2 e
The Reynolds number is : — P- The volumetric flow rate of the juice is 60 Ipm.

a) 2004 b) 40000 c) 10000 A1 20400
I5. The refrigeration load when 100 kg/h of peas is frozen from 30°C to -40°C when the peas havea 94
moisture content of 74% is : .
_,, o
a) 11.42 kW ./Eé?s kW c) 4.11 x 107 J/h d) 43.78 x 106 J/h

T ' ~ -

16.  Sterilization value of a process has been calculated to be an Fy of 2.88. If each can contains 10
spores of an organism having a Dy of 1.5 min. Assuming that the Fo value was calculated using
the same z value as the organism. The probability of spoilage (Pspilage) from this organism is:

\&,

ay"0.45 b) 0.32 ¢) 0.12 d) 0.06

17.  F value at 121°C equivalent to 99.999 % inactivation of a strain of C. botallinum is 1.2 mn. Do

value of this organism is : e L
i ol

a) 0.43 min b) 0.24 min ¢) 0.65 min 45 0.12 min -

equal number of spores of an isolate from a spoiled canned food were

heated for 10 and 15 min at 115.5°C. The survivors were, respectively 4600 and 160. The lag
time for héating the tubes to 115.5°C was established in prior experiments to be 0.5 min. D

vi‘ﬁ.i-sf:’ p—— " _:-——-*E-’

a) 1.23 min b) 3.42 min c) 7.89 min d) 4.56 min

18. Sealed tube containing

Which one is not the appropriate reason when oil bearing material is cooked prior to oil

- extraction because cooking :

) Comglim ks kg nanc e vl
20. Animal fat‘;s exh'i;.cted by:

a) Distillation  b) Mechanical exu-ac‘iiﬂn l‘3/)Reﬂlderitlg d) leaching

21, Among the fats/oils the highest amount of saturated oil i present in :

b) Butter fat /é) Beef tallow d) Palm oil

a) Coconut oil
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22.  When wheat it
rme 15

is stored between 16 ;
% an _
d 30% moisture content, the mycotoxins fo

X) Aflatoxin
b) Ochratoxin d) Salmoneliﬂ

. ¢) Botulinum
23. Drying mode commonly used in a]l types of
of cereal grain is :
Radiati
,_a,)/ iation b) Conduction ¢) Convection d) Vacuum
24. The sweetness of HFS (DE: 95-96%) with respect to sucrose taken as one is : 1
a)1.5 b) 2.0 et d) 3.0

25. Denaturation of proteins means :

a) loss of primary structure izati
Y ! ¢) De polymerization
b) loss of three dimensional structure d% C():,gu%::;on

26. More than 50% of the hull is composed of :
a) Cellulose and lignin c) Cellulose

b) Lignin and pentosans d) Pentosans and Ash -

27.  Which of the following enzyme is responsible for off-flavor development in cream and butter ?

d) None of these

a) Lipase b) Protease oY Peroxidase
28.  The fiber in food that produces necessary dietary ro;zghage is largely :
a) Cellulose by hemicelluloses & dextrin -d) Pectin
‘29 ”[1:1; energy“mnienTof}at:how many mwmﬁcrg;_mntem of protein and carbohydrate 7
a) 3 times )9 225 times ¢) 2.5 times - d) 2.75 times
wr >

30. Which of the following is called milk ejection hormomz, ?

_4) Oxytocin b) Vasopressin ¢) Prolactin d) None of thses
31. The shelf life of a food product at 25°C is 200 days and at 35°C is 50 days. The Qo value is:
—— —
a) 5 b) 6 ) 4 d) 3

erature of 30°C, if the vapour pressure of water i§ 4.242 kPa, the partial i
2 kPa and atmospheric pressure is 101.325 _';._;
8, ;

& \11@ q

32. At ambient temp
pressure of water vapour in the atmosphere is 2.5

kPa, then the relative humidity is :

¢ A

7 ¢ 5 418% b) 59.4 % & 68.6% d) 742 %
4 . r :
33. Hot water at a flow rate of 0.01 m’/min enters the tube side of a counter currenfshell and tube

et oxchanger at 80°C and leaves at S0°C. Cold ol at a flow rate of 0.05 m/min of density 800

kg/m’ and Swiw kJ/kgK enters at 20°C. The log Wﬂcﬂ is
_.._______._,_———'-‘

approximately :
a) 32°C b) 37°C cV45 °C d) 50°C
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It i doxired to concentrate a 20% salt soly . _
solution in an evaporator, Consider n Ibgd'efmk“ffiﬂ_ft in 106 k‘g fﬁsﬁ!ﬁﬁﬂl) wg%ﬁ
solution ix 110°C, the latent hent of “P"ﬂuﬁm kg/min at 30°C. The boiling poist

i . A the
jon is 4 kKJkpK. ‘The rate at which 1 I & 2100 “Mwmm,ﬁwr
iﬂ;‘l!l]llllll in ] 0 I 'Whm eslicn & (o)

1,06 x 10° ; 4 5
n) 3.06x10 b) 6.12x 10 [5}/?.24:1;](;" dj9,ﬂ$:530'

The wet basis moisture content of a particulag pra: -
of that grain will be : E a0z

The moisture comtent on dry basis
8) 24% b) 27% 25 % d) 30%

The greatest pressure in a spherical tank of 2 m diameter filled with oil of specific gravity 0.92
if pressure measured at the highest point in the tank is 70 kPa will be -

~1a) 90.13 kPa b) 88.1 kPa c) 79.4 kPa d) None of these

The percentage regeneration when cold milk entering a pasteurizer at 4°C attains 2 iemper2anT
of 65°C after regeneration and 72°C after heating should be :

a) 90.25 % Y 87.13 % ¢) 7628 % d) 89.7%

480 kg sauce is heated in a steam jacketed kettle from 25°C to 75°C using ﬂf‘“m at 110°C. The
product heating time is 30 min. The specific heat of sauce is 31?2 kJ/kg K and overall heat
transfer coefficient is 300 W/m” K. The heat transfer area required i5

— M

a) 2.8 m* b) 3.8 m? Utv)é:fi m’ d24m o

A
i . = o
The amount of cream testing 35% fat that must be added o 500 kg of milk testing 4% St ©
obtain cream tasting 10% fat shouldbe :

a) 20 kg b) 100 kg & 120 ke d) 200 ke
"

Bacterial population in milk multiplies by a factor of 200 in 18 hours of storage at 20°C
temperature. The increase in population in 3 hours of storage at the same temperature is

a) 5.85 times D).2.42 times ¢) 66.67 times d) 14.14 times
" 4t 4 \
3 o5
Space for Rough Work RO
[} LR
10 >
T
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